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QUESTION 1

You are provisioning a LUN using an ISCSI initiator on an ESX host. You disable Ethernet flow control for 

all ports but are experiencing Performance issues. 

In this scenario, which two actions would improve the performance issue? (Choose two.) 

A. Set the MTU settings 1500 for optimal performance. 

B. Dedicate your ports to ISCSI traffic. 

C. Enable jumbo frames across the entire data path. 

D. Confirm that your host .mil storage polls are connected to a different network. 

Correct Answer: BC 

 

QUESTION 2

You are planning to implement a 32 Gb FC SAN on a 2-node AFF A700 ONTAP 9.5 cluster. You need to create 112 FC
LIFs across the HA pair with a limit of 20 FC LIFs per physical HBA port. 

In this scenario, how many 2-port 32 Gb HBA cards do you need per storage controller? 

B. 1 

C. 4 

D. 3 

Correct Answer: A 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which container gains space savings from deduplication, compression and compaction? 

A. the aggregate 

B. the qtree 

C. the volume 

D. the LUN 

Correct Answer: C 

 

QUESTION 4

After the addition of extra DS224C disk shelves, you notice that the output of the system node run -node node_1
sysconfig command shows Mixed-path. You need to investigate why the additional shelves are providing this error. 

In this scenario, which two tools would help diagnose this issue? (Choose two.) 

A. Config Advisor 

B. Active IQ 

C. Hardware Universe (HWU) 

D. Interoperability Matrix Tool (IMT) 

Correct Answer: AD 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, which two pairs of ports are currently configurable as FC SAN LIFs? (Choose two.) 

A. 01b, 0h 

B. 01a, 0g 

C. 01a, 0h 

D. 01b, 0g 

Correct Answer: BC 
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